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1. Which of the following is the binary representation of 4 5/8?
(A) 100.11 (B) 10.011 {C) 110.161 {D) 100.101

2. Which of the following data storage systems provides the most efficient random access to individual data items?
{A) Main memory (B) Magretic disk {C) Optical CDs and DVDs (D) Floppy disk

3. Which of the following components of an operating system is nat part of the kernel?
(A) Shell (B) File manager (C) Scheduler (D) None of above

4, Which of the fotlowing events is detrimental to an operating system’s performance?
{A) Deadiock (B} Intecrupt (C} Boating (D) Restart

5. Which of the foliowing is not a way of classifying networks?
(A) WAN versus LAN (B) Closed versus open (C) Router versus bridge (DD} Star versus bus

6. Which layer of the TCPF/IP lierarchy actually transmits a message?
(A) Application (B} Transport {C) Network (D) Link

7. Which of the following is not a means of repeating a block of instructions?
(A) Pretest loop (B) Posttest loop {C) Recursion (D) if-then-else statement

8. When searching within the list
Lewis, Maurice, Nathan, Oliver, Pat, Quincy, Roger, Stan, Tom
which of the following entries will be found mest quickly vsing the binary search algorithm?
(A) Lewis (B) Pat {C) Tom (1) Stan

9, Which of the following does not require a Boolean structure?
(A) If-then-eise staterment  {B) While loop statement () Assigniment statement (D) For loop statement

10. Which of the following is ignored by a compiler?
(A) Control statements  (B) Declarations of constants (C} Procedure headers (D) Comment statements

. Which of the following is an attempt o construct software from off-the-shelf components as is done in other engineering fields?
(A) Extreme programming  (B) Evolutionary prototyping (C) Compenent architecture (D) Open-source development

(2. Suppote you were going 10 yetrigye items of data that you would later need to process in the opposite order from that in which they
were retrisved. Which of the follewing would be the best structure in which to store the items?
(A) Traditional tinked list (B) Stack {C} Queue (D) Tree

[3. Which of the following file structures requires a small “auxiliary” storage system that must be updated as entries in the file are
mserled or deleted?
(A) Sequential (B) Indexed (C) Hash (D) None of above

14_ A memory system that is able to provids related informetion is called
(A) Read-cnly memory (ROM)  (B) Assceiative memory  {C) An artificial neural network (D) Main memory

15. Which of the following systems is least efficient when enceding numeric values?
{A) Two's complement natation {B) Excess notation {C)y ASCIH {D) Floating-point notation
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1. Explain the distinction between time complexity and space complexity.

2. Draw the search iree that would be generated by a heuristic search when solving the eight-puzzle from the starting configuration below
assuming that *“the number of tiles out of place” were used as the heuristic.
123
56
47 8

3. List five possible data mining techniques.
4. In what sense is the software life cycie ditferent from the life cycle of other products?

5. The table below represents & portion of a computer’s main memory containing a binary tree stored row by row in a contiguous block as
described in the chapter, Draw a picture of the tree and explain why.
Address  Contents
3o
51
32
i3
34
35
56
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6. Rewrite the following routine using a pre-test while statement.
repeat {print the value of X;
X« X+ 1)
until (X > 5}

7. (a) Describe a scenario that leads to deadlock in a computer syster.
(b) What conditions are necessary for deadlock to oceur?
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